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EB58 “HTBBRMIE

B 457 ) A2 4 JE B 0 7% 48 J TR 1) O R A s

y
[B)] X2 1TEAGZH. HEkS% 0 QB a 4k j C
PRI R A AR I AT 0 I B L AR e R R R S
QFRMEFANE ., 5 5
(D P BHH QG4 T B EMRE K 0.0 2 it
3
BB E R T, ) ,/'B
1 0 0 1
A
T, = 0 10 O 1 23 456 7 8%
—5 —4 1 GESEE AT
(2) Jight . BT 58 Aa bR J5 A 300 B & e e 45°, 722 6 i B
AT,
cos% sin% 0
I, = *sin% cos% 0
0 0 1
(3) SO : 2% i Q MK R s PR [l i A (5, 4) , AR S B Ry T
1 0 O
T, = |0 1 0
5 4 1
(4 E\@I}ﬁ%iﬁﬁiﬁ T=T, - T, - T;,
C 3 7 O_
cos &~ sin = 0 2 2
1 0 0 4 4 1 0 O
T = 0 1 0 .0m e « |0 1 0= —E —E 1
*smz cosz 0 2 2
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0 0 1 5f@ 4fM 1
L 2 2 J
(5) ZFHEr U IE ABCD To S (S5 IRAEE R P
4 1 1
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P=
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(6) 78 ¥ 5 UTHIE T 5 ABCD B35 WAERE P,

[z I 1 [5+/2 4—2/2 1]
4 1 1 2 2 0 3 f /7
/ ;s 5 5 54+ dtg 1
P:P.T:771 2 2 1= /7 5f
5——= 44+=—= 1
1 4 1 /Z 9 /2 2
5——= 4——"=1
L2 21 -2/ 4—2/2 1]
(7) AR %0 J5 W U IE T ABCD A2 bRy
A’(6.4,1.2),B(7.1,4.7),C’'(4.3,7.5).,D'(2.2,1.2),

2. BERE P X 20y AR R JE s A T4 LA o fACE a4 e KIE R MaxX, y il 3
T RN MaxY. L BATRR 20y AR TR , )
B P HL (MaxX/2, MaxY/2) , " K i 47 v 4l 36 B
il b AP 52 B . B SR A I SR B A A b R 2 o v
[B) A AH B G 2R )

(&) bt Laadl DB aE, H M H A A AR 2, B
i T B B (MaxX/2, MaxY/2) o Ok i 7y il g 11077 IR
. SCEE AN

pDC- >SetMapMode (MM_ANTSOTROPIC) ; /7 A E LA B B

pDC->SetWindowExt (Rect.Width () ,Rect.Height ());

pDC->SetViewportExt (Rect.Width (), -Rect.Height()); / /= BKS A, y Rl e B

pDC->SetViewportOrg (Rect.Width () /2,Rect.Height () /2); //BtEd 0N E S

AT HE LR R E AR RZ B R,
(1) ¥ 20y He b5 RIS E R 5] (MaxX /2, MaxY/2) &b JE 1 2Oy AR & . 1 T2 5
F Y AR AR 4 TF 1) 8% B 45 [R) TAE  1 JE 9 Al b i 110 1) B Bl L AR SR AR B T, R

1 0 0
T, — 0 1 0
~ MaxX  MaxY 1

2 2

(2) Hyaé?z iﬂﬂﬁ(fi%f”’r?ﬁ H T AR bR R0 o il Y B A 8 4 S5 () T RE L IR X o il

1 0 0
T.= (0 —1 0
0 0 1
(3) B T=T, - T,
1 0 0
T— 0 —1 0
~ MaxX MaxY 1
2 2
3. HSLAEFR AR Oy J5GALT JrRE % 5 DXL s o BlKCF A oy il B b 7R R
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E T (0000 4 B K @ (0 129 ) MDY T 53 B RIEDTE 28 5
(0, —b) SH B HE R . 50 569 2 5 A e A B

T

N1

P 5-3 KGR AR iR

[FR) AR g B 5090 2 52 6 et 70 46 . 0 Ao 1ot S5 A X o 80 mT L 7 AR A R 1Y
JE AT B R D (MaxX/2, MaxY/2) , x Z’FHUJ(TH?E o B ) b A AR A B T LA
A2 T3]3 PR, b A st 28453 3 58 L. V3% 728 46 | e % 722 46 Tl 5 °F
AR . A 4R 2 A e e 2 B 3 1 B i 4% H1L P A SetTimer o #0F1 Kill Timer o845
SERAY . SetTimer PREUH 207 B 4% - Kill Timer p&$0C A € B 457

(1) BEAIEJ7 I8 T0 A5 AL b R 8K

void CTestView: :ReadPoint ()

{
a=100,b=200;

PO1d[0][0]=-a/2;P01d[0] [1]=~ (b-a/2);PO1d[0] [2]=1; //IEJ7IB TR FF IR AL tR
PO1d[1][0]=-a/2;P0O1d[1][1]=- (b+ta/2);POld[1][2]=
PO1d[2][0]=a/2;P01d[2][1l]=- (b+a/2);PO1ld[2][2]=
PO1d[3]1([0]=a/2;P0O1d[3][1l]=- (b-a/2);P0O1d[3][2]=

}

2) &% PREL

void CTestView: :DrawPolygon (CDC * pDC,double p[][3]) V3 EAUNIA R

{
double Tempx, Tempy;
for (int i=0;i<4;i++)

{

pDC->MoveTo (ROUND (p[1] [0]),ROUND (p[i][1]))
Tempx=p[i] [0];Tempy=p[i] [1];
}
else
pDC->LineTo (ROUND (p[i][0]),ROUND(p[1][1]));
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}

}
pDC->LineTo (ROUND (Tempx) , ROUND (Tempy) ) ;

(3) XZEwh R %L,

void CTestView: :DoubleBuffer () / /32 wh ek KL

{

double Tx=0,Ty=b;

/1 R AL

T1[0][0]=1;T1[0][1]=0;T1[0][2]=0;
T1[1][0]=0;T1[1]1[11=1;T1[1][2]=0;
T1[2][0]=-Tx;T1[2][1]=Ty;T1([2][2]=1;

/ /3L B B A 4

T2[0] [0]=cos (beta* PI/180);T2[0] [1]=sin (beta* PI/180);T2[0][2]=0;
T2[1] [0]=-sin(beta* PI/180);T2[1][1]=cos (beta* PI/180);T2[1][2]=0;
T2[2][0]1=0;T2[2][11=0;T2[2][2]=1;

/B R AR e

T3[0][0]=1;T3([0][1]=0;T3[0][2]=0;
T3[1][0]=0;T3[1][1]=1;T3([1][2]=0;
T3[2][0]=Tx;T3[2][1]=-Ty;T3([2][2]=1;

MultiMatrix (PO1ld,T1);

MultiMatrix (POld,T2);

MultiMatrix (POld,T3);

CDC * pDC=GetDC () ; / /% FIX DC
GetMaxX () ;GetMaxY () ;

pDC- > SetMapMode (MM_ANISOTROPIC) ; /A RE SUAR R R
pDC->SetWindowExt (MaxX,MaxY) ;

pDC->SetViewportExt (MaxX, -MaxY) ; //x Ay, y flm
pDC->SetViewportOrg (MaxX/2,MaxY/2) ; / /5t R A TR

CDC MemDC, Picture;

MemDC.CreateCompatibleDC (pDC) ;

MemDC . SetMapMode (MM ANISOTROPIC) ;

MemDC.SetWindowExt (MaxX,MaxY) ;

MemDC.SetViewportExt (MaxX, -MaxY) ;

MemDC.SetViewportOrg (MaxX/2,MaxY/2) ;

CBitmap NewBitmap, * OldBitmap;

NewBitmap.LoadBitmap (IDB BITMAP2) ;

0ldBitmap=MemDC.SelectObject (&NewBitmap) ;

MemDC.BitBlt (-MaxX/2,-MaxY/2,MaxX,MaxY, &Picture, -MaxX/2,-MaxY/2,SRCCOPY) ;
DrawCoor (&MemDC) ;

DrawPolygon (&MemDC, PO1d) ;

pDC->BitBlt (-MaxX/2,-MaxY/2,MaxX,MaxY, &MemDC, -MaxX/2,-MaxY/2,SRCCOPY) ;
ReleaseDC (pDC) ;

MemDC.SelectObject (OldBitmap) ;

NewBitmap.DeleteObject () ;
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}
(4) FE R AH 3fe R KL

void CTestView::MultiMatrix (double PO[][3],double T[3][3]) / /% B A e bR £

{
int 1,37
for (i=0;i<4;i++)
for (j=0;3<3;j++)
Pnew[i] [J]=PO[1][0] * T[O][J]+PO[1][1]* T[1][J1+PO[i][2] % T[2][]];
for (i=0;i<4;i++)
{
for(3=0;3<3;J++)
Pold[i] [j]=Pnew([i][j];

}
(5) il A AR R PR ER

void CTestView: :DrawCoor (CDC * pDC)

{
Cpen NewPen, * OldPen;
NewPen.CreatePen (PS SOLID,3,RGB(128,128,128));
0ldPen=pDC->SelectObject (&NewPen) ;
pDC->MoveTo (-100,0) ;
pDC->LineTo (100,0);
pDC->MoveTo (0,0) ;
pDC->LineTo (0,-b);
pDC->SelectObject (OldPen) ;
NewPen.DeleteObject () ;

}
(6 2y ] 5 FL R S5 R K

void CTestView:: OnMENUPlay () / /3% B SR PR R
{
//TODO: Add your command handler code here
Play=Play? FALSE:TRUE;
if (Play) / /B ) i i B R] 25
SetTimer (1,15,NULL) ;
else
KillTimer (1);

}
(7) ERT#37H B WL gt pR %k,

void CTestView: :O0nTimer (UINT nIDEvent)

{
//TODO: Add your message handler code here and/or call default
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beta=10;
DoubleBuffer();
CView: :OnTimer (nIDEvent) ;

}
(8) B i i 1 A 25 ke B pR KL

void CTestView: :OnUpdateMENUPlay (CCmdUI * pCmdUTI)
{
//TODO: Add your command update UI handler code here
if (Play)
{
pCmdUI->SetCheck (TRUE) ;
pCmdUI->SetText ("E L0 ") ;
}
else
{
pCmdUI->SetCheck (FALSE) ;
pCmdUI->SetText ("#EAL N ") ;

}

4. BWAE P, (0,2),P,(3,3) 1] Cohen-Sutherland 14k Bt 3% 55 2 bk 3R & B P, P, ,
BHE DR w, =1,w,,=6,w,, =1,w,, =5, 11& 5-4 FixR,

Y
BoRE 6
(D) L BR300 9 A DX TR] I 2 65 J5L ) >
(2) £ B A 1 S : P,
(3) #eym EZ LR, 5 1
(4) FRBY 5 7 1N LR B 1A i AL AR L

[#1 Cohen-Sutherland FZLBIMIDE BT H kb a0 2 )
HAE R 2 43 1 9 A DX 8k, A3 B B2 10 I 0 0 4 I — 21 DU 7
ZHEHIRES RC=C,C;C,Cy » 5 FLER B 9 A s 1 1) DX 35k G
i #ER R 0, B RC, [RC, =0, 156 B 1 28 BE W v 2 AR AE 7 11 D9, B AT B 22 4 1L 8 BE I P A oy
ALY X IR AD AR AN A 0, B RC, &RC, 70, B 28 BEA T 5 A0 B4 5] — 0, 3 W 1 2% B 4 1 4~
Uity e FRAE T 1 A0 BRI 357 2 . 27 LR BE R AN T R a7 B o R W A 3 A A s AR BE A
SR HAHAS T B BB S H A 28 a5 . 28 a0 R B R 43, Jorh — BE5E
AL FE AN AU 2 X5 — B T 38 AUAL I DX T L P DU R R 38 L
ORI SE AN TE 0N ELB T IE.

(D & R0 1 9 A DK TE] 1 G 5 JEE 000, AR B4 B 1 A — i 50 R 6 80 1A A
BT — 4 4 A gk X RC=C,C,C,C

B 1AL G A S T E O Z AN B 2w, W Cr=1,. 80 C =0,

$5 240 Cor F0EA T8 0 2Z AN B 2 >w,, 0 Co=1, %0 C, =0,

55347 Cy s AUt T8 O Z I B y<<wo,, .0 Co=1, 0 C;=0,

1 2 3 45 6 7x
Bl 5-4 BB
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B AN Co: i ST HE 0 2Z 2L B y>w, 0 Co =180 C, =0,

(2) HE&B SIS, PArgish 0001, P, 55 465k 0000,

(3) HumFEELI|, WA P,(0,2),P,(3,3) yw,, =4, wy =1, w, =4, w, =1,

RC, =0001,RC,=0000,

PR RC, [ RC. 70, i IR RE B R RC, &RC, =0, AR BRI 7. HLKB S D
S IR EHAB S % N R g s,

KB Pi(0,2),P,(3, ) 5 OAR w =1 B 2=wa=1 FRABHLF R
y=kx+b=2.3, 58 S AbR P(1,2.3) % s i A bR Py (0,2) i Py AR R (1,2, 3), 8544 P,
P 4B i B PP,

(4) RBY J5 61 1P T2 B i s Ak bR . BT S BN AR B i s AR ARl Py (T
2.3)H1 P,(3,3).

5. TR AR 4 24 XAl AT Ll R g R DX R L R B AT M R A P (2 ) FE
11 A X B2 T 0 P C ey s ) 8 I A AR 07 B 4 S AT B0 7 AR e 28 X

Ve — U,
a=S8, = 2= =
Wy 7 Wy

jxv =ax,+0b . N . b= v, — waa

s AR R B

lyV:c‘ward g — UnTUn
c=S, = +—>
Wy — Wy

d = v, — wye

[ARY o A 4 0 2 ] DAGE AR DLt 30 4 5 R SR U 10 v a5 A AR X o7 5 A0
DX Y AR A X R AR X I LB G R

WML ARFR R T O X T AR o wy) s A EFAARE R (w,, s w,) . AR
b R AR A 22 R A A BR A Cos o) o A7 B AR R (o sv,0) o B H I AU (2w s i) s AR
XA X B R (e s )

AR RSB, AT DAE 6 11 P A — a5 P (2 s 3 2B B 0 0 X R B — 85 P/ (s ) 5 AU
P 5-5 R 5-6 irys . BR8P FER 1A 59 AR X 07 B R P A XA i A 437 B R R X
Fe il G &

y
VVyl —
——1=-—— -9 v,
P(xw’yw)| L I I —QP’(xv’ yv)
| 8
0 X |
Wy - — : Uyb f
| L1 ! ! !
0 Wy Wy X o Uy Uyr X
P 5-5 1 H AR [ 5-6  HIX Y s
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Wy~ Wy Uer — Ual
JUES)
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a = Upr = Vgl _ SI
Wor 7 Wh

b= Uy — Wyd
Uyt 7 Uyt ~

= Zu O g
Wyr = Wy

d = v, —w,e¢

ey | T =@ xwT0
Lfcrmﬂcﬁ{yv: e

6. Fc MR 5-7 Frow  fdt XIS AE S A B2 B 1 e f RN S A bR . FEBR A P X ZE M X
SRS LTINS IS B a1 B N -y e P S 1 [ P 2 S B TR S S
& 5-8 PR . X HLFE 2t AR A 5. i Cohen-Sutherland 5375 4 2 5230,

5
N\
sAELSY | " -
m s N ~
A N
B 5-7 G AXHEHE ] 5-8 5 Tl A AR e A B4R B R BT S5OR E

[f2) Khrsea Hor AP O MR R 07 AR R X7 e 07 2
BTN LR T X R i e R
(D gt 75 L.

#define LEFT 1 / /4% 0001
#define RIGHT 2 //4@t8 0010
#define BOTTOM 4 / /4% 0100
#define TOP 8 / /4% 1000

(2) # IR IX 5 5E .

CTestView: :CTestView ()
{

//TODO: add construction code here
wx1=100;wxr=400;wyb=200;wyt=500;
vx1=550;vxr=950;vyb=250;vyt=450;
a= (vxr-vxl)/ (wxr-wxl) ;b=vxl-wxl * a;
c= (vyt-vyb) / (wyt-wyb) ;d=vyb-wyb * c;

}

(3) OnDraw pR%X .,

void CTestView: :OnDraw (CDC * pDC)
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}

CTestDoc * pDoc=GetDocument () ;

ASSERT_VALID (pDoc) ;

//TODO: add draw code for native data here

CPen Penl, Pen2,Pen3, * pOldPen;

Penl.CreatePen (PS_SOLID, 3,RGB(0,0,255)); //%&E X 3 MK M HEZE
pOldPen=pDC->SelectObject (&Penl);

/g A

pDC->MoveTo (ROUND (wx1) ,ROUND (wyt) ) ;pDC->LineTo (ROUND (wxr) , ROUND (wyt)) ;
pDC->LineTo (ROUND (wxr) ,ROUND (wyb) ) ;pDC->LineTo (ROUND (wx1l) , ROUND (wyb) ) ;
pDC->LineTo (ROUND (wx1l) , ROUND (wyt)) ;

pDC->TextOut ( (ROUND (wx1)+ROUND (wxr)) /2, ROUND (wyb)-20,"#&H H ") ;

/ /8 1

pDC->SelectObject (pOldPen) ;

Penl.DeleteObject () ;

Pen2.CreatePen (PS_SOLID, 3,RGB (255,0,0)) ;

pOldPen=pDC->SelectObject (&Pen2);

/14 AR IX

pDC->MoveTo (ROUND (vx1l),ROUND (vyt)) ;pDC->LineTo (ROUND (vxr) , ROUND (vyt)) ;
pDC->LineTo (ROUND (vxr) ,ROUND (vyb) ) ; pDC->LineTo (ROUND (vx1l) ,ROUND (vyb) ) ;
pDC->LineTo (ROUND (vx1l),ROUND (vyt)) ;

pDC->TextOut ( (ROUND (vx1)+ROUND (vxr))/2,ROUND (vyb)-20, "fHIX ") ;

/ /AL X A

pDC->SelectObject (pOldPen) ;

Pen2.DeleteObject () ;

/7 SR 3 E 4R

GetClientRect (&Rect) ; VLI X-Sal N NN

Pen3.CreatePen (PS SOLID, 3,RGB(128,128,128));

p0ldPen=pDC->SelectObject (&Pen3) ;

pDC->MoveTo (Rect.Width()/2,0);

pDC->LineTo (Rect.Width () /2,Rect.Height ());

pDC->SelectObject (pOldPen) ;

Pen3.DeleteObject () ;

(4) S LS PR R

void CTestView: :OnMENUCohen () / /3% SR pR R

{

178

//TODO: Add your command handler code here
CClientDC dc (this);
double xwl,ywl,xw2, yw2;
CInputDlg dlg;
if (dlg.DoModal ()==IDOK)
{
xwl=dlg.m x1;xw2=dlg.m x2;ywl=dlg.m yl;yw2=dlg.m y2;



}
RedrawWindow () ; / /W B
/78 A H
dc.MoveTo (ROUND (xwl) , ROUND (ywl)) ;
dc.LineTo (ROUND (xw2) , ROUND (yw2)) ;
clip(xwl,ywl,xw2,yw2);

}

(5) BRI pREL.

void CTestView::clip (double xwl,double ywl,double xw2,double yw2)
/ /A R

double xvl,yvl,xv2,yv2;
double x,vy;
BOOL Change;
CClientDC dc (this);
RC1=EnCode (xwl, ywl) ;RC2=EnCode (xw2, yw2) ;
while (TRUE)
{
Change=FALSE;
if( (RC1|RC2)==0)

{ //HZ
xvl=a* xwl+b;yvli=c* ywl+d;xv2=a * xw2+b;yv2=c* yw2+d;
/AL X AL bR
dc.MoveTo (ROUND (xv1) ,ROUND (yvl));
dc.LineTo (ROUND (xv2),ROUND (yv2)) ;
return;
}
else 1f ((RC1 & RC2) ! =0)
{ /IFZ
return;
}
else
{
if (RC1==0) /A0SR P GAE S TN, S8 P1 AL P2, fRIIE p1 KEE T 4
{
/ /58 e 0 A B AH
double tx,ty;
tx=xwl;ty=ywl;
xwl=xw2;ywl=yw2;
XW2=tx;yw2=ty;
/ /3 B A
unsigned int RC;
RC=RC1;RC1=RC2;RC2=RC;
}
if (RC1 & LEFT ) //PL A T T ZE
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